Homework Quiz 2B, 18 Sep 2023
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: l.rz‘;You are given. a displacement graph below. Draw the corresponding velocity graph on
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the blank grid. Label axes carefully!
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2. Consider the function flz) = Z:cz — 2, with derivative f'(z) = % — 2. Find the
~ equation of the tangent line at = 2. The graph is for reference. only,f'yoﬁ_ ‘!mu'st use
- calculus to find the equation of the line. Sketch your line to check your work.
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3.  Below is a graph of a velocity curve. Find an -equation for the displacement curve

v(t) (km/hr)

| o ul “PPLY | Tm/ﬂeza/b{ %{)rma le =
o ; Z//;;// | | -S/H,: 2{[@442);,
| W///%/ = ¢ (hr) : 1 (29 +(~ttr2)) F
S/Ope"»zhbl W: - i L(4yg- éé)é
| /mifrcéﬂ% | 29t - 5{%
VIL) s ~¢t +2£/

4. Using the definition of the derivative, find f'(z) if f(z) = 3z — 2. Make sure you use
limit notation correctly for the last steps.
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